FAF 2 BEBLIIIEERY 25 HRRH%H P S B | Ay xgemn

L e C A T 5
RSP 5 RlETIE | % B -
iRl P 5044 | #BAS (Mragy OTwEE (1)
&K FRiR & GAHFW | 3-1-4-2

|

CERE (FELAA 540 4)

1. ( ) BF <n?+3n—4"> IE3IERE (A3 (B)6 (C)—49 (D)-46
2. ( D%a'ﬁé&%ﬁzi(%—@% (A)1+3+5+7+9+11 (B)—1+1+3+5+7+9+11

C3+5+7+9+11 (D)-3+1+3+5+7+9+11

3. ( ) AE 5 Bl — 13 2R A 5 8% - (EEBEGIORF2ZEE - AlfE AR 4 (B85
(A)—-10 (B)-7(C)-4 (D)-1

4. ( ) E%%D%ZF’EEJ%/\ 3 {EIESL - i 5 EEFELLES > AlfEARE =805
A: B: O O

5. ( ) 5 3x+ 1 Fyx— 1Bl ox+7 #YELEHIE > Alx R (A)-2 (B)-1 (C)0 (D)1

6. ( ) INEERE 20 BT ASRTT 0 AIREFIERE 10% » FFFEEF]—I > Al 3 FEIAFIR
(A)266200 (B)266000 (C)262200 (D)260000

7. ( ) 6 N[ERIEZE - AR TETT) ~ A0H ~ 17, =F 2 — HITRENVEESRA  (A)PS 1&#
(B)6’fE (C)3°fE (D) C; f&

8. ( ) HE -~ Z W T K Q6 EANEF  ARENEAERGHEN Y BE %/ DiEdE
A2 (A)240 (B)120 (C)360 (D)15

9. ( ) & E M AH A TERATRE R - SRR E & E T ? (A)30  (B)36 (C)45 (D)60

10. ( ) AR ANALHT AT B EH - £~ =3 AdE&MEA?  (A)100 (B)80 (C)120
(D)90

SHE AR (15F S 44 X 604)
1.5 2x— 1 Mlix+4 EEFIEE 15 Allx=

)y

2. —HEBFINVE 7 ERE 35 0 55 35 T 121 0 HILEFIRYE 21 THZ

15 15 15
3. B 8 =30 > b =17 » 53K > (38 —4b, +2)=
P k1 Py

4, EHEFERE T —4—-1+2+5+ -5 18 HEIYF A

1



5. %L 56, —28, 14, —7, -E10TH
6. %bbé&%ﬁzl+(—%)+%+--- EHT 6 TE R
7. B L AR AR 10 0 AR —2 0 FIE — 8525 » BIHLARBIATEE =

8. —HAE niWE P =42xP)t > Hn=
9. 7 2233344 (T EHEF] > AR FEATEY -

10. AR EE - WEFTR » B4 ER] ¢ a8 B HEER
¢

 REEA T

A
1L B~ 2~ N2 7 N1 ERER ~ £~ W 3 AREEE - RIS TER e
12. 53K 1080 Y IEREEE A {[éf -
13. % Ch=C) » HIC?* 2 {H &y
14. B4 6 N > 45 N o HEFEHW H W 240 — R - A3t TEAHE
15. “Fif EAHSE 10 B - HApa 5 (EEGL - Har 3 BEILay - At 10 BEHEAE fFRER -
x W
FL& . S AR g . SN
- EEA (104 54D £ 40 4)
1 2 3 4 5 6 7 8 9 10

SN HAM (158 445 £ 604)

1 2 3 4 5

6 7 8 9 10

11 12 13 14 15




